AP Calculus AB
Unit 2 — Day 4 — Assignment
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Pictured below is the graph of a function, f{x).
Answer questions 1 - 6 that follow about /'(x) .

Pictured below is the graph of /'(x) on the
interval [-3, 4]. Answer the following questions

7 — 12 about f{x).
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1) Appro imate the value of f'(4). 7) On what open intérval(s) is the graph of f{x)
‘51 (3, -0 increasing? Justify your reasoning.
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2) At what Value(s) of x is £'(x) = 0. Justify your | 8) On what open 1nterval(s) is the graph of Ax)

decreasing? Justify your answer.
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3) On what open interval(s) is ' (x) <07 Justify
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9) At what value(s) of % does the graph of f{x)
have achorizontal tangent? Justify your answer.
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4) On what open interval(s) is /" (x) >0? Justfy
your answer. PoSy L) nee
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10) At what v.alue(S) of x does the graph of f{x)
have a relative maximum? Justify your answer.
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5) At what value(s) of x does the graph of f'(x)
go from being below the x — axis to above the x —
axis? Justify your answer.
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11) At what value(s) of x does the graph of f{x)
have a relative minimum? _Justify your answer.
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6) At what value(s) of x does the graph of /'(x)
go from being above the x — axis to below the x —
axis? Justify your answer.
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12) What is the slope of the normal line to the
graph of x) at x =47 Justify your reasoning.
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For exercises 13 — 15, determine on what intervals the given function is increasing or decreasing.
Also, identify the coordmates of any relative extrema of the function. Show your work and

justify your reasoning.
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14) g(x)=x - 6x*+ 15
g x)= Hx*- 12X
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15) h(e)=(x + 2%x - 1)
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16) Pictured to the right is the graph of f '(x) . On what interval(s) ~\ \\ X
is the graph of {x) increasing or decreasing? Justify your i ) }
reasoning. “ f
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17) Pictured to the right is the graph of / '(x) . At what value(s) )
of x does the graph of f{x) have a relative maximum/minimum? - \\,j* » A
Justify your reasoning. §( }
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